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Directions for the following 4 (four) items :
Rend the following four passages and answer the
werns that follow Your arswers Lo thewe items should
be based on the possages only

Passage - 1

are considered
mzdmlndahﬂ:\.suazd.&&:mandm
commen in agricultural and urban landscapes
where other large trees are absent In patural
forests, fig trees provide food for wildlife when

:L‘:f:remu-sanmamimppcﬂamgb

Fig trees (geous Ficus)

density and diversaty of frugivores (frust-eating
snimmals) If frogivorous birds and bats continue
w0 visit fig trees located in sites with high buman
dsturbance, sacred fig trees may promote
Under favourable

=scrochmate, plenty of seedlings of other tree

frugrvere abundance

speces would grow AT and fig trees

L On the basis of the

2 Fig trees can grow where otber arge
wondy Speces cannol U
e irees gn bave A I'ae D
SeOCTVeTES CaErTalion
. F g e ¥ A IowE = th e
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Passage - Z

At the heart of agroecology the idea thst

agroscosystems should mimic
levels snd functioning of natural
Such agricultural mimics, like
models, can

the biodivermity
PRy RLETTA
their natural

be productive, pest remiatant,

nutrient conserving, and resilient to shocks and

wiresass

In ecosystems there s no ‘waste’,

nutrients are recycled indefinitely. Agroecology

aims at closing nutrient loops, 1.2,

returning all

putrients that eome out of the soil back to the soil

such as through application of farmyard manure

It also harnesses natural processes Lo

pests and

control

build scil fertility ie., through

Intercroppang Agroecological practices include

integrating trees with livestock and crops

[

'

Consider the following

Cover crops
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Passage - 3

Computers increasingly denl not just
with abstract data like credit card details
and databases, but also with the real world of
physical objects and vulnerable human
bodies. A modern car is a computer on
wheels: an aeroplane is a computer on wings.
The arrival of the “Internet of Things" will
ge¢ computers baked into everything from
rond signs and MRI scanners to prosthetics
and insulin pumps, There i8 little evidence
that these gadgets will be any more
trustworthy than their desktop counterparts.
Hackers

have already proved that they can

take remote control of internet connected

cars and pacemakers.

Which one of the following statements best
reflects the most critical inference that can

be made from the passage given above ?

{a) Computers are not completely safe

(b) Companies producing the software do
not take cyber secunty seriously

(¢) Stringent data gecurity laws are needed

(d) The present trend of communication
technologies will affect our lives in
future

BXC-B-GYL! (5

4.

Passage - 4

A social and physical environment riddled
with  poverty, unhygienic and
{nsanitary conditions gencrates the risk of
infectious discases. Hygiene has different levels |
personal, domestic and commumnity
There is no doubt that personal
brings down the rate
the entry of the market into this domain has
created a false sense of security that gets
conditioned and reinforced by the onslaught of

inequities,

hygiene
cleanliness
of infectious discases But

advertisements, Experience 1n Western Eurvpe
shows that along with purnunu] hygiene,
improvements in environmental conditions and
components like clean water, sanitation and food
security have brought infant/child

death/infection rates considerably. The obsession

general

down

brings in the persisung
health

with hand hygiene also
influence of the market on personal
overriding or marginalising the negative impact

on ecology and the emergence of resistant germs

On the basis of the passage given above,
following assumptions have been made

the

1. People who are obsessed with personal
hygiene tend to ignore the community
hygiene.

Emergence of multi-drug resistant germs
can be prevented by personal cleanliness

3. Entry of the market in the domain of
hygiene increases the risk
diseases

of infectious

4. Scientific and micro-level interventions
are not sufficient to bring
burden of infectious diseases

down the

5. It is community hygiene imjg lemented
through public health measures that
really effective in the b ittle against

infectious disenses
Which of the above assumptions are valid 7

(n) 1 and 2 only

(b 3 and 4 only
\C)

id)

4 and 5 only

1, 2 and 4 only
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Statement :

Conclusion-l :

Conclusion-1I :
Which one of the following is correct ?

(a) Only Conclusion-1

(b)  Only Conclusion-I1

(¢c) Both Conclugion-I and Conclusion-I1
(d) Neither Conclusion-I nor Conclusion-11

A boy plays with a ball and he drops it from o 9
height of 1:-6 m. Every time the ball hits the
ground, it bounces back to attain a height
4/5' of the previous height. The ball does not
bounce further if the previous height is less
than 50 cm. What is the number of times the
ball hits the ground before the ball stops

bouncing 7

A Statement followed by Conclusion-1 and |8,
Conclusion-II is given below. You have to take
the Statement to be true even if it seems Lo be
at variance from the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows/follow
from the
commonly known facts.

Statement, disregarding  the

Some cats are almirahs. Some
almirahs are chairs.  All
chairs are tables.

Certainly some almirahs are
tables.

Some cats may not be chairs.

(a 4
(b) b
() 6 10.
d) 7

Images of consonants of the English alphabel
(Capitals) are observed in a mirror. What is
the number of images of these which do not

look like their original shapes ?

L 13
b 14
15

A bank employee drives 10 km towards South

from her house and turns to her Jeft and

drives another 20 km. Sho again turns left and
drives 40 km, then she turns to her right and
drives for another km. She again turns o
her right and drives another 30 km ta reach
her bank where she works, What is the
shortest distance between her bank and her

house ?

(a) 20km
(b) 256 km
(¢) 30km

(d) 856km

Integers are listed from 700 to 1000, In how

many integers 18 the sum of the digits 107

(a) 6
(b) 7
c) B
(d 9

A woman rung 12 km towards her North, then
6 km towards her South and then B km
towards her East. In which direction is she

from her starting point 7

(a) An angle less than 456° South of East
(b)  An nngle less than 45° North of East
(¢) An angle more than 45 South of East

(di  An angle more than 45° North of East



fofafam 4 (aw) svmm & fom frdr

74 w1y wr wfeazi # 9B I vhedE & A9
mmm%mﬁﬁqrnmﬁ%m
mmmﬂmwﬁm(ﬁmﬁw

aitenE - |

AaHfan s W % wew A, o

¥ % AfE F W 0l w5 A = #
X1 A0, A 9 F w9 G o #1259 T4 wof

A oA W g a2 3 vwzmt B owd W

HHa A B, @ wd & w9 § ot wrd a6

el 71 wH 7, v e ud % w2 |, w
fava 7 R = Aot faza = R

TF WfeE ® NN W, #afuw adana

g g w1 B A R 7

a) F83 A =fs feft wffs srm =
sHE T fam fram =dm T
Al |

by T9F =E W w4 f 5 4R =
i duzg %1 mam = |
wifd® wy=ma o w2 # uwA & 39
w- & mgfa et 2

(,_j‘) <

£

994 ufd® mwzm w1 G4 "@oed

BXC-B-GYLI (8

D)

ufren? - 2

g fifrem & fe woE, g2, sf faf
(A1) ® sEwew swa Igud & gA 6
spfewan o 3 A w1 w1 wwA, faan
W sfins (sfifaa) ) 30 fafa s
i, W= FHAE B9 A AV & g
g ¥ ' K, wfg 3 amfww & fow
ITGEF T A A | v A, T A
Awfid wEv@E wd3 gem B9 & s uf
s aifis gaw ot B, o fadh apmes
(whwaea) 4, zot Tpaed 1 qoA A4 sfuw
s B E, @1 7% ffrea R gdadt tehea
4 uwE & AR % fom 9aiE w9 8 9 @ wam
frm 8, 3t 3 0 d-faan w06 s fafa a9
¥ st wifem, ar mpiza % =W A @
SR F1 7w 71 o fawa w |

[ wiw etz % smm w, frofafan @ @
THA FEifis Fdwr ity fadagol frepd

Fwen s mFa B 2

(0 9% S A o, 37 v &

IPUA frerd #

vib) fEf sferm § wft meens & feru
qTY (BFfE) It s R T 5

ECGIN

foe wam s # o 1)

(&) &

(d) &M T I=w1 sy vafoa w1

qva @

a8 wfim Hatay il URdAl & HEg

foms g
:[mr-'i'-iﬁ (e fafe ,r,;f‘_;r;} * oo fafy

Diret

Read

tems

he bay

11.




pirections for the followin

o the following four |
s that follow. Your an

o on the passages (

Pa
With  res| . & i
denomination
_ .y -
: -
to be a judge .
= -
B
uch thing
they are
—
religion = -
Liat s
—
rght .
—
e - s
il
-
—_— =
an
-
. . ¢
- -
-
Y
-
>
- - |
e
T
- o———
L= -
— ——
=
-
11 - ;

e o
Lty il Bt e iy Tuss
uy anemew of dewerwey S S
e e g g o L i s
darnine gulile suley Thie w ar fonw
B
s i S i oo St sy
el By it A e Do e gy
Gor Wismmt couret  Tle JANgL leee e
wmeoding aul sty gl W S

s o glessnt s el Sl Bus o

SrRey i SRy o sty — Vit

Wit v of e Jolow sty susesss -
reflonts Chur ermes of Sin Jusigy Lo e

@ Homes seetes agetaesr el
flerenr hrme o geeruness

B Aoy fom o prermes wade w
o T g —

< Hevag U amesmpmueny @ § SevosaEs o1
UNGEUeT TR 4 By = e b
o gy




Directions for the following 4 (four) items :

Read the following

items that follow

four passages and answer the
Your answcers to these items should

be based on the passages only,

Passage - 1

With respect

to what

are called

denominations of religion, if everyone is left

Lo be a judge of his own religion, there is no

such thing as religion that is wrong; but if

they are to be a Judge of each other's
religion, there is no such thing as a religion ‘
that is right, and therefore all the world is J
right or all the world is wrong in the

matter of religion

What is the most logical assumption tha

can be made from the passage given above

(al  No man can live without adheri T
some religious denomination
b) It is the duty of evervone to pr
one’s religious denomination
¢} Religious denominations ton
the unity of man
(di  Men do not understar

religious denomination
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Directions for the following 4 (four) tema Pasnsage ~ 2

Read the fillowing four passages and answer the It Is ecertain, that seditions, wars, and
itema that follow. Your ansicers to thase (tena nhum'd: contemgd or breach of the laws are not w0 mach

he by 1 on the passages only ]

o be imputed to the wickedness of the subjeets,
ns to the bad state of a dominion. For men are
Passage - | nol born fit for citizenship, but must be macde so
Besides, men's natural passions are sverywhers
With  re specl. 1o what are called
the same, and if wickedness more [,rr":lA]l and

denominations of religlon, if everyone is left
more offences are committed in  one

to be a judge of his own religion, there is no
commonwealth than in another, it v cerisin

such thing ns religion that s wr but if :
§#8 o o Vhipy, Mine that the former has neither encugh pursued the

I [ | y g ¢
they are o be a Judgoe of each olhers end of unity, nor framed its laws with sufficient

religion, there is no such thing as a religion forethought; and that, therefore, it has [ailed in

that is pight, and therefore all the world is making quite good its right as & commonweaith

right or all the world s wrong in the

| matter of religion |
12. Which among the following s the most
logical and rational inference that cun be
3
. made from the passage given above
11, What is the most logical assumption that ;

can be made from Lthe passnge given above 7 4 Beditions, wars and breach of the Laws
re inevitable in every d
No man con live without adhering to
b It not L 'k -
yme religious denomination peoy £
w l e ble for th
b I the duty of everyone o propagats
i r |
| one's religlous denomination
[ f Ihat d the be r
Hellgious denominations tend W (gnore
[ Lhe [ writ | "
P
the unity of maor

understand their wi
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13. With reference to the anbove passage, the

Passage - 3
Inequality violates a basic democratic norm

the equal standing of citizens Equality is n

relation that obtains between persons in respect
of some fundamental characteristic that they
share in common. Equality is, morally speaking,
a default principle. Therefore, persons should not
be discriminated on grounds such as race, caste,
gender, ethnicity, disability, or class. These

features of human condition are morally
irrelevant. The idea that one should treat
persans with respect not only because some of
these persons possess some special features or
talent, for example skilled cricketers, gifted
musicians, or literary giants, but because persons
yre human  beings, is by now part of

nmonsense morality

following assumptions have been made

1 Equality is a prerequisite for people to
participate in the multiple transactions
of society from a position of confidence

2 Occurrence of inequality is detrimental

to the survival of democr

Equal standing of all citizens is an iden
that cannot actually be realised even in
L democracy

| Right to equality should be incorporated
into pur values and day-to-day palitical

vocabulary

Which of the above assumptions are valid ?

1 1 and 2 only
L 2 and J only
1 and 4 only

1 | and 4 onl

Passage =4

Anstocratic government ruing itsell by
limiting too narrowly the circle within which
power is confined; oligarchic government ruins
itself by the incautious seramble for
immediate wealth, But even democracy ruins
itself by excess of democracy. Its basie
principle is the equal right of all to hold office
and determine public policy. This is, at [irst
glance, a delightful arrangement; it becomes
disastrous because the people are not properly
cquipped by education to select the best rulers
and the wisest courses. The people have no
understanding and only repent what their
rulers are pleased to tell them. Such a

democracy i8 Lyranny or autocracy — Plato

14. Which one of the following statemoents best

reflects the crux of the passage given above ?

(a) Human socicties experiment with

different forms of governments

(b)  Any form of government tends to

deteriorate by excess of its  basic

principle

(e) Edueation of all citlzens ensures a

perfect, functionnl and  sustainable

democracy

(d)  Having u government is a necessary evil
because tyranny is inherent in any form

of government
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In a group of 120 persons, 80 are Indians and | 18,

rent are foreigners. Further, 70 persons in the
group can spenk English, The number of
Indinng wha can speak English i1s

(n) 20

by 90

(e 30 or lens

(d) 90 or more

3-digit numbers (without
repetition of digits) obtained using three
non-zero digits which are multiples of 3. Let S

Consider all

be their sum

Which of the following i/are correct ?

1 S is alwnys divisible by 74,
2 S is always divisible by 9.
Select the correct answer using the code given
below
1 only
b 2 only

Both 1 and 2

d Neither 1 nor 2

here are two Classes A and B having 26 and

10 students respectively. In Class-A the

highest score is 21 and lowest gcore is 17. In

Class-B the highest score s 30 and lowest
ore is 22 Four students are shifted from

Class-A to Class-B

Consider the following statements

1 The gcore of Class-B will

definitely decrease

nyernge

of Class-A will|:

he average score
definitely increase.
Which of the above atalements is/are
correct 4
\ 1 only
b 2 anly
Both 1 and 2
Neither 1 nor 2
(13

B-GYLI

D)

Consider two Statements and n Question :

Priya is 4 ranks below Seema

and is 31* from the bottom.

Ena is 2 ranks above Seema

and is 37" from the bottom.

What is Seema’s rank from the

top in the class of 40 students ?

Which one of the following is correct in respect

of the Statements and the Question ?

(a) Statement-1 alone is not sufficient to
answer the Question

(b) Statement-2 mlone is not sufficient to
answer the Question

t¢) Either Statement-1
Statement-2 alone 18
answer the Question

(d) Both Statement-1 and Statement-2 are
required to answer the Question

Consider two Statements and & Question :

Statement-1: Each of A and D is heavier than

ench of B, E and F, but none of

them is the heaviest.

A is heavier than D, but is

lighter than C.

Who is the heaviest among

A B C,Dnnd E?

Which one of the following is correct in respect

of the Statements and the Question ?

() Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone i8
answer the Question

{¢) Both Statement-1 and Statement-2 are
required to answer the Question

(d) Neither Statement-1 alone nor
Statement-2 sufficient to
answer the Question

Statement-1 :
Statement-2 :

Question :

alone or
sufficient to

Statement-2 :

(Question :

sufficient to

alone 18

In the English alphabet, the first 4 letters are
written in opposite order; and the next
4 letters are written in opposite order and so
on: and at the end Y and Z are interchanged
Which will be the fourth letter to the right of
the 13" letter ?

(a N
by T
(c) H
[ |
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prrections for the following 4 (four) items :

the following fomr posscges and creer the
thct follow Your answers to these items should
wd on LAe possages only

Passage - 1
Eesearchers mmulsted street kghting on |
£l grassland plots containing pea-aphids, ‘

ciang insects, at night These were exposed |
=o different types of light — a white Eght
—lar w0 pewer commercal LED Eghts and an
Znt sumilar to sodinm street lamps The
ntenaity amber light was shown to inhibit,
induce, flowering in a wild plant of
ly which is a source of food for the
zphids in grasslands. The oumber of aphids
gnificantly suppressed under the hght
doe to the limited amount of food

Vhich one of the following statements bes?

reflects the most critical inference that can

< made from the passage given above ?

Light pollution can have a permanent

- nteasity of light 10 an ecosystem
wortant r nly for plants but for
15

Passage - 2

Approximately 50 percent of all flowening
plant species are pollinated by animals, including
birds and mammals, but the main pollinators are
insects. Pollination is responsible for providing
us with a wide vanety of food, as well as many
plant-derived medicines. At least one-third of the
worlds agricultural crops depend upon
pollination. Bees are the most dominant taxa
when it comes to pollination and they are crucial
to mare than four hundred crops. Pollination is
an essential service that is the result of intncate
relationships between plants and animals, and
the reduction or loss of either affects the survival
of both. Effective pollination requires resources,
such as refuges of pnstne natural vegetation.

22, On the basis of the passage given above, the

ollowing assumptions have been made :
1 Sustainable production of India’s cereal
food grains is impossible without the

diversity of pollinating animals.

2 Monoculture of horticultural crops
hampers the survival of insects

3 Pollinators become scarce in cultivated
areas devoid of natural vegetation

4 Diversity in insects induces diversity of
plants

Which of the above assumptions is/are

valid ?

a 1 only

b 2,3 and 4 only
1 and 2 only

d J and 4 only
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Passage - 3

A study conducted on the impacts of
climate change over the Cauvery basin of
Famil Nadu using regional climate models
showed an increasing trend for maximum
ind minimum temperatures, and a decrense
in the number of rainy days. These climatic
shifts will have an impact on the hydrological
cycles in the region, lead to more run-off and
ess recharge, and affect the groundwater
tables. Further, there has been an inerense in
the frequency of droughts in the State, This
has driven farmers to increase dependency

n groundwater resources to secure their

Which one of the following statements best

reflects the crux of the pussage given above ?

(a Development of regional climate models

helps in  choosing  climate-smart

ngricultural practices.

Heavy dependence on groundwater
resources can be reduced by adopting

dry-land cropping systems.

Climate changes incrense the critieality
of water resources while simultaneously

threntening it

Climate changes chuse the farmers lo

ndopt unsustainable livelihoods nand

risky coping stralegies.

Passage - 4

Researchers were nble to use stem cells to
gauge the neurotoxic effects of the environmental
pollutant Bisphenol A (BPA). They used a
combination of biochemical and cell-based nssays
to examine the gene expression profile during the
differentintion of mouse embryonic stem cells
upon treatment with BPA, a compound known to
cause heart disenses, diabetes, and
developmental abnormalities in humans, They
were able to detect and measure BPA toxicity
towards the proper specification of primary germ
Inyers, such ns endoderm and ectoderm, and the

establishment of neural progenitor cells.

24. On the basis of the passage given above, the

following assumptions have been made :

L. BPA may alter embryonic development
in vivo.
2 Biochemical and cell-based assays are

useful in finding out treatments for

pollution-induced discases.

3, Embryonic stem cells could serve as a
model to evaluate the physiological
effects of environmental pollutants

Which of the above nssumptions are valid ?

n) 1and 2 only

(b) 2 and 3 only

c) 1 and 3 only

d) 1,2and 3




26

N
=1

af2 42119 51 10 A frafer fEm w7 W N 2.

™ 7

in) |
(b) 3
£ 7
d )

HR A10A125P060 9% TR WA ) | 7E P

g R 7 (=
Lo L_zz"

7 Ly

Ly
1Y 8 .” #dy,

| 7l 221 B M F g3 7 Tm o=
= (wqu ofa #Hzr B) 8040 . o
= 1.2 3 100 ¥ 27 AFTraE w7

1 w2l F oA 2 Ham o

v a8y o % B2 o om & £

Iy

mring‘é-ﬁ:ﬁm?ﬁw_?w
e Y5 A #1 w7 12 W
& 78 v wrt | b W TRPA B TP
;i'-}m:mz'v;étm.wbﬁl
zfe,,#s.mtrﬂﬁ?ﬁhﬁu
tom wm ¥ ® G 8 B ¥Am
nﬁw,:z;rmmmtmé
Cxtmam Y

a ?s:th)ﬂ
b P=0l+ 1ia

P P = 50 (243
d P =50 2/

== = 8, os o v 3 § P bt
=1 oz 7 § | 72 v GeteE 8 s
A ¥, 7 Gk Gmfim 3 B T
2 A
] 4%
bl 4%
e 2E
N7 A

= T 7= T o Y. == TeE e
e T 2 5 a5l
ST BT P
;'is;-'"’vf’f*fz:m;'ﬁ?;-r:uq:ﬁ

A Gt ] Pu o ¥

T = 2 Ay o b
SRRy SR ;
AT [zan toa v ovm mm = —_=

3 3 o5y s9 A3
# 7,-:7_ BT aAr
577 % TEm, mARE R | B S,
=221 ¥ | 58 T, o ¥
e 5% em Goma smagh §
i smcamm s aah ¥
___;,:‘,, 28w oh b
Z o R
¥ =z
L 5 7 g . P




-I'.'I‘-!!]

If

remninder ?

1 1
b J
e T
d 9

is divided by 10, then what is the |4

The number 3788125P369 is divisible by 7.

What is the value of the digit P 7

)]
by 6
c) 1T
d 9

From January 1, 2021, the price of petrol
in Rupees per litre) on m'! day of the year is

30 + 0-1m, where m = 1, 2, 3, .., 100 and
On the other

thereafter remains constant.
hand, the price of diesel (in Rupees per litre)
o nth day of 2021 is 69 + 0:15n for any n. On
which date in the year 2021 are the prices of

hese two fuels equal ?
21*" May

b 20" May

19" May

30.

18" May

A bialogy class at high gchool predicted that a
locnl population of animals will double in size
every 12 years, The population at the
beginniog of the year 2021 was estimated to
be 50 animals. If P represents the population
after n years, then which one of the following
equations represents the model of the class for

the population ?

(a) P=12+60n
(b) P=50+12n
(¢} P=60(2)'*"
(d) P=60(@""?

In a class, 60% of students are from India and
50% of the students are girls. If 30% of the
Indian are girls, then what
percentage of foreign students are boys ?

students

(a) 46%
(b) 40%
(c) 30%
(d) 20%

A Statement followed by Conclusion-1 and
Conclusion-11 is given below. You have to take
the Statement to be true even if it seems to be
at variance from the commonly known facts
Read all Conclusions nnd then decide which of
the given Conclusion(s) logically follows/follow

from the Statement, disregarding the
commonly known facts
Statement : Some radios are mobiles. All

mobiles are computers. Some
computers are waltches

Certainly rodios

watches.

Conclusion-1 some are

Conelusion-I1 . Certainly some mobiles are
witches

Which ane of the following is correct 7

(n) Only Conclusion-1

(b)  Only Conclusion-11

(¢ Both Conelusion-1 and Conclusion-11
() Neither Conclusion-I nor Conclusion-11
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Directions for the following 4 (four) ilems :

| the following four passages and answer the

that follow. Your answers Lo these iLema should

d aon the passages only

Passage - |

Indis faces a challenging immediate future

nergy and dimate policy-making The
roblems are multiple © sputtering fossil fuel
production  capabilities, limited socess 0
ricity and modern covking fuel for Lhe

rest, rising fuel imports in an unstable Pobal
ergy context ntinued electricity pricing snd
muance challenges leading tw s costly

Ls or su s supply, and not least, growing

ronmental contestation around land, water

) is not bleak: growing energy
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Passage -3

Policy makers and media have placed the
plame for skyrocketing food prices on a variety of
factors, including high fuel prices, bad weather in
key food producing countries, and the diversion
of land to mnon-food production. Increased
cmphasis, however, has been placed on a surge in
demand for food from the most populous
emerging economies. It seems highly probable

that mass consumption in these countries could

be well poised to create a food crisis,

1. With reference to the above passage, the

following assumptions have been made :

1 0il producing countries are one of the

reasons for high food prices.

If there is a food crisis in the world in

(5]

the near future, it will be in the

emerging economies.

Which of the above assumptions is/are

valid 7
1 1 only
h) 2 only
Both 1 and 2

d Neither 1 nor 2

(23-D)

34.

Passage — 4

A central message of modern
development ecanomics 18 the importance
of income growth, by which is meant
growth in Gross Domestic Product (GDP

In theory, rising GDP creates employment
and investment opportunities. As Incomes
grow in a country where the level of GDP
was once low, households, communities,
and governments are increasingly able to
set aside some funds for the production of
things that make for a good life. Today
GDP has assumed such a significant place
in the development lexicon, that if
someone mentions “economic growth”, we

know they mean growth in GDP.
With reference to the above passage, the
following assumptions have been made

1 Rising GDP is essential for a country to

be a developed country

2 Rising GDP guarantees a reasonable

distribution of income to all households.

Which of the

valid 7

above assumptions is/are

(a) 1 only
(h) 2 only
(e) Both 1 and 2

(d) Neither 1 nor 2




36,

37

38.

(L
] N
@ g1 P, Q, R
§ 1 R, QT3 s A § o r gEE
& A o 7k # | A s iR U T
gm%gamﬁqgm%waip,ﬂaﬂzfsﬁf?
foord & 9w mafem £ ) AR SmET 9@
Tafem A # 2

.D

@) Q3R
b Q3 u
Uer Q3T
(d) TsRU
T fau T 3EEn
3,2,7,4,18, 10, 21, 18, 31, 28, 43, 40 %,
Tefd 95 B HE W2} wge, 7wl fawm gz s
®H 92 TAH 924 F1 F{HO FE 8 |
(a}) O
(b) 1
(] 3
d 6
Fo ufafedi &1 =g 9 fean m @ | wffet
aftkar v Pifa waf w1 sEo w5 #
deqaR 3 wfafe (7) #1 =47 $ifsu |
[ [ 1oa 3C
ac | 8B || €A
[ TSAN |G| |
\_’Larl" 98
(b) 3A
c) 3B
(d) ac
-fmﬂvﬁnrﬂﬂnammﬁnqv?

SPhu-1: |8 ]4]6]15]525] 23625 |
\_:F‘:[.Tﬂ“ blA|B| C ok

D E |
S0 % fou ¢ % v g0 = afafe & 7
(o) 26

(b 5

(e) 9-3756

(dl 328125

BXC-B-GYLI

39.

v w@fd X, T@H A 8 a9 W 3 sy oy *‘,}

wH B A U B WG 6 AR
mmilmwﬂ%mﬁ{ﬁwh_

21 X, 15 k/hr &) TEHIH 9 ¥ SEa R
afft Y wrd 92 # 1 kvhr 6 HEAE TEW,

Zet W2 8§ 125 kmhr ) THYHE 9 W To
it @ F 1.5 km/hr %1 THEEH 9161 3 Som
2 3 el wEw wm o weE A R

frafafes § & @-a/a-8 76 R/E 7

1. 3439 ®! e ¥ 592 &1 g9 a0 |
2. 9 ZMI ATYT BEHI % dEidN fiem |
1t o T g2 1 v w0 a3 R
(a) Wad 1

(b) ad 2

(c) 13 23H

(d) TaAl1,TH 2

40. U famrdi when % 6 woa.qdt § daw R | warw

A & for s sw e € | W
W91 W IH MAF 5:6:7:8:9: 10 %
A A ¥ | T Rreme 3w sow i v
f | 3 fom w6 e st ¥
60% B 9 3% W firn 9
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i

Seven books P, Q, R, S, T, U and V are placed | 39

side by side. R, Q and T have blue covers and

sther books have red covers. Only S and U are 1

new books and the rest are old. P, R and S are |

law reports; the rest are Gazetteers. Books of

old Gazetteers with blue covers are |
Qand U '.
Qand T

d Tand U l

Replace the incorrect term by the correct term ‘
in the given sequence |

3,2,7,4,13,10,21, 18,31, 28,43, 40 |
where odd terms and even terms follow r.l::ei
same pattern. |
a 0 \

s

—

|

C

o

Following is a matrix of certain entries. The
entries follow a certain trend row-wise. Choose
the missing entry (?) accordingly.

B 10 | 3C
3C 9B 8A
10A 13C ¢

= _D

|

A person X from a place A and another persom
Y from a place B set out at the same time o
The places are

walk towards each other

separated by 2 distance of 15 km
X walks with a uniform speed of 15 km/hr
and Y walks with a uniform speed of 1 km/hr
in the first hour, with a uniform speed of
1-25 kmv/hr in the second hour and with a
uniform speed of 1-5 km/hr in the third hour

and so on
Which of the following is/are correct ?
1 They take 5 hours to meet

2 They meet midway between Aand B

Select the correct answer using the code given
below :

a 1 only
b) 2only
c Both 1 and 2

4 h - s tharn £ -y
ds e Sscore than o i & aAxXimum
marks ?
a 2
4] |
c <
d -
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pctions for the fallowing 2 (two) items :

1 hi

following two passages and answer e
bt follow. Your answers to these items should
j on the passages only, %

Passage - 1

rhe best universities like Harvard and MIT,
pite having the luxury of having some truly
.nt teachers on their payroll, are
<ingly embracing the “flipped classroom”
.t where students listen to video lectures at
and spend class time applying their
solving  problems, discussing
etc. Professors guide that discussion
: ] in wherever necessary, explaining those
‘hat seem to be eluding the students and
#ing in advanced ideas that happen to be
. These universities have made their video
‘o< available free for anyone in the world.
are also encouraging colleges and
oreities all over the world to integrate these
¢ courses into their own pedagogy, picking
‘eces that are appropriate for their needs
iilding a package around them.

wledge,

ples,

Which one of the following statements best
reflects the central idea of the passage

en above ?
Efficacy of universities would be better
in r:nli;lu mode of conducting C‘“’sf”m
tnitionian compared 0 wnvenuunnl

method b
- 3 e
Availability of higher education i

cheaper without

made easier and

liluting the content. "

We need mot invest m“": s
i

nfrastructure n‘.‘]ﬂwd to B

uman
jucation and yet develop petter b

nd social C.’lp!li\l.

Privale

ind thrnive well.

Passage — 2

Our cities are extremely vulnerable to

climate change because of large concentrations of
populations and poor infrastructure. Moreover,
population densities are increasing in them but

we have not yet developed the systems to address

climate change impacts. Our cities contribute to

65 per cent of the GDP, but there are not enough

facilities to cater to the needs of the people. It is

important to address the issues of air quality,

transport, etc.,

that are vital to identifying

sustainable solutions. We need to involve citizens

in city planning and create an

ecosystem that

meets the needs of the people.

42,

Which among the following is the most
logical and rational inference that can be

made from the passage given above ?

(a) Our cities need to have well-defined

administrative set-up with sufficient

autonomy.

(b) Ever increasing population densities 1sa

hindrance in our efforts

to achieve

gustainable development.

To maintain and develop our cities we

need to adopt

sustainability related

interventions

(d) Public-Private Partnership mode of

development is the viable long-term

solution for the infrastructure and

sustainability problems of India.
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(m)

(b)

B

9

13
27
43

(a)

(h)
e

id)

fofafgs 9 (vfewm) & @ w fa=Em
flﬁﬂ'l!:
4P + 4P + FP + PP = RQ2; 9&l P, Q @41 R fim
HF B |
T Tl HWTE ATl W HETO AT = R 7
102
120
202

220

el T (sfEefermm) F v @ R

Fifsm

PQ)x 3 = RQQ, 7#1 P, Q 3t R fiyg 7w £ ol
R=0R |

P+R)+ QF A1 741 & 2

a) 1

HIa HI®BT & T f;“nfm qﬂ m

A1 Tha]




y and L:\U!l,\' Spent an equal amount of|47.
ney 1o buy fome pens and special pencils of
same quality from the same store. If Jay
ight 3 pens and 5 pencils, and Vijay bough‘l
ens and 7 pencils, then which one of the
wing 1s correct ?
A pencil costs more than a pen

The price of a pencil is equal to that of a

F\l‘”.
e . 48,
The price of a pen is two times the price
of a pencil
The price of a pen is three times the
price of a pencil
.cored 40 marks more than Q in an
wamination. If Q scored 10% less marks than
hen how much did Q score ?
360
380
100 49.
120

rson P asks one of his three friends X as
yw much money he had. X replied, “If Y
: me ¢ 40, then Y will have half of as
s Z. but if Z gives me T 40, then three
will have equal amount.” What 1s the

)
,mount of money that X Yand Z have 7

r 360 50.
100

270

de language 'MATHEMATICS' is

r d How 1
‘LBSIDNZU HDR".
- code languag® -

v B

]

MISTRY written in that
DIDLHRSSX

IDNHTSSX

BIDLHTSSX

)\GFLIRUQZ

|29—D|

At which one of the following tmes, do the
hour hand and the minute hand of the clock
make an angle of 180° with each other ?

(a) At 7:00 hours

(b} Between 7:00 hours and 7:05 hours

(¢) At T:05 hours

(d) Between 7:05 hours and 7:10 hours

In an objective type lest of 90 questions,
5 marks are allotted for every correct answer
and 2 marks are deducted for every Wrong
answer. After attempting all the 90 questions,
a student got a total of 387 marks. What is the

number of incorrect responses ?

(a) 9

(b} 13
() 27
d 43

Consider the following addition problem !

3P + 4P + PP + PP = RQ2; where P, Q and R
are different digits.

What is the anthmetic mean of all such

2

possible sums

() 102
(b) 120
{c) 202
(d) 220

Consider  the
problem :

(PQ) x 3=RQQ, where P, Q and R are
different digits and R = 0

following  multiplication

What is the value of (P+ R)+Q ?

(a) 1
(b) 2
(¢) 5

(di Cannot  |be determined  due to

insuflicient data
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prections for the following 3 (thres) fhees &

ihe following two passages and answer the
that follow. Your answers to these items should
.sed on the passages only,

Passage - 1

Medieval merchants risked the hazards of
¢ Silk Road to reach the markets of China;
ruguese caravels in the 15" century sailed
vond the bounds of the known world, searching

for knowledge than for gold and spices.
ictorically, the driver for opening frontiers has
ways been the search for resources, Science and
riosity are weaker drivers. The only way to
en up space, whether the space of solar system

nterstellar space is to create an economic

sine and that engine is resource extraction.

Which one of the following statements best

sums up the passage given above ?

1 Wealth generation is the primary motive
for any human endeavour.

Space, whether space in golar system or

interstellar space, will govern our future

economy.
motivated to explore

Human beings are

w frontiers |mn¢|pu|ly by economic

¢
nsiderations.

is based on the

Wealth generation

Passage — 2

“  most people would agree that telling

deliberate lies is wrong, except perhaps in certain

special situations where more harm will be done

by telling the truth. Even the most truthful
people probably tell a good many more lies that
might be regarded as gemantic lies; their use of

words contains some measure of falsehood, more

or less delibernte.”

52. The idea which the first part of the passage

mentions is

(a) agreement about telling lies

(b) disagreement about telling lies.

(c) disagreement about telling the truth

(d) disagreement about the harm in telling

the truth

53. Which one of the following habits is found

more often in good people ?
(a) Mixing up the true and false

(b) Intentional mixing up of truth with the

false

(c) Falsification of facts

risk-taking behaviour of pome mt

(d) Complete concealment of truth
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dingram

W A pie shows  the percantage
distribution of proteing, witer and other dry
clements in the human body. Civen that
prowins - correspond o 16% and watar
correnponds o T0%. If both proteins and the
ither dry elements correspond to g%, then
the angle of the sector

reprosenting pon the pie disgram 7

what Is central

32 T 433

] 4"
) 06"
108"
d) 1208
55, Joseph visits the club on every 5% day, Harsh
B ixits on every 24 day, while Sumit visits on
A cvery 9 day, If all three of them met at the
ub on n Sunday, then on which day will all
throe of them meet again 7
1 Monday
b Wednesday
f
Thursday
d junday
) 0 he difference between a 2-digit number imriI
¢ number obtained by interchanging Lhe
Lions of the digits is 64
der the following sLatements
I'hes wum of the two digits of the number
0 be determined only if the product of
the two digits |s known
I Ihe difference between the two digits of
the number can be detarmined
l , | o the abave wtatomaont i/ are
|
| or
nly
Hatl and 2

P

BA.

69.

X sald o Y, “At the time of your birh ] waa

twice as old s you are st present.” )i the

proment age of X s 42 years, then exrmumder the

lollorwing statemarnts

1 B years ago, the age of X was five Limes
the age A Y

2 After 14 years, the age of X would be two
timen the mge of ¥

Which of

correct 7

the above statements Ware
1 only
2 only

fe) Both 1l and 2

(&)
(k)
(d) Neither | nor 2

If the price of an article is decreased by 20%

and then the néew price ia increased by 20%

then what is the net change in the price 7

in) ¥k

(b & incremss

[’ Ok decreass

d) Cannot b determined due 7]

insufficient data

When a certain number is multiplied by 7, the
product entirely comprises ones only (1111
What is the smallest such number ?

1 15713

I |

[y J-f-i’:

i | 1 |

A mpletes 778 of Z1 H
I I r 1a ke

b if g rk rLher

1

| ;
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Jrections for the fouawlng 4 (four) items : Visiaga 4

the following four
fe passages and answer the In the immedinte future, we will see the

that follow. Your answers to these items should | Incrensing  commodification of many new
wd on the passages only. technologies — artificial intelligence and robotics,
3D manufacturing, custom made biological and
pharmaceutical  products, lethal —aulonomous
Passagecsl weapons and driverless cars. This will pose
conundrums, The moral question of how o

Nothing can exist in a natural state which | driverless car will decide between hitling a
| be called good or bad by common assent, jaywalker and swerving and damaging the car has
often been debated. The answer is both simple —
gave the human life — and complex. At which
/Its only his own advantage, and determines | angle should the car swerve — just enough to save

¢ every man who 18 in a natural state

1 is good or bad according to his own fancy | the jaywalker or more than enough 7 If the
driverless car is in Dublin, who would take the
decision ? The Irish Government, or the car's
untage alone, and holds himself respousib'q original code writer in California, or a software

no one save himself by any law; and therefore | programmer in Hyderabad to whom maintenance

4 insofar as he has regard for his own

is outsourced 7 If different national jurisdictions
have different fine print on prigritising a human
life, how will it affect insurance and investment

annot be conceived in a natural state, but
n a civil state, which is decreed by comman
:nt what is good or bad, and each one holds decisions, including transnational ones ?
elf responsible to the state.

62. Which of the following statements best reflect
the rational, plausible and practical

o o : : ts best : .
Which one of the following statemen implications that can be derived from the
reflects the central idea of the passage passage given above ?
e RbAUED 1.  Too much globalization ig not in the best
N * interests of any country
" Fam e is right or i i
The conceptions of what g 2, Modern technologies are increasingly
wrong exist due to the formation of n blurring the economie borders.
3 Innovation and capital have impinged l
tate on the domain of the State l
Unless o ruling authority decides as to 4 Public policy of every country should
/ 9 focus on developing its own suppl |
n would be pply
what is right or wrong, ne ma chains
morally right. b Geopolitics will have to reconcile to
LR and selfish many nmbiguitics and uncertainties
Man is inherently 1m Solect the correct answer using the code given
below

in a natural state

1 d R .
he {dea of what 18 right or wrong 18 hll 1 tllil | ..l-u,L.]
i ' [h) 2.3 and 4 only
v { human ;
necessary for the survival o (¢ 2,3 and 6 only
|

(d I,4 and b

pecies

(35-D)




Directions for the following 4 (four) items ;

Read the following four passages and answer the
items that follow. Your answers to these items should

he based on the passages only.

Passage - 1

Nothing can exist in a natural state which
can be called good or bad by common assent,
since every man who is in a naturnl state
consults only his own advantage, and determines
what is good or bad according to his own fancy
and insofar as he has regard for his own
advantage alone, and holds himself responsible
to no one save himself by any law; and therefore
sin cannot be conceived in a natural state, but
only in a civil state, which is decreed by common

consent what is good or bad, and each one holds

himself responsible to the state

Which one of the following statements best

reflects the central idea of the passage|

61.

given above 7

The of what is right or

wrong exist due to the formation of a

a) conceptions

Passage - 2

In the immediate future, we will see the
increasing commeodification of many DneEw
technologies — artificial intelligence and robotics,
4D manufacturing, custom made biological and
pharmaceutical  products, lethal autonomous
weapons and driverless cars This will pose
The moral question of how a
driverless car will decide between hitting a
jaywalker and swerving and damaging the car has
often been debated. The answer is both simple —
the human life — and complex. At which
ghould the car swerve — just enough to save
or or more than enough ? If the
driverless car is in Dublin, who would take the
decision ? The Irish Government, Or the car’s
original code writer in California, or a software
yderabad to whom maintenance

conundrums

save
angle
the jaywalk

programmer in H
is outsourced ? If different national jurisdictions
have different fine print on prioritising a human
life, how will it affect insurance and investment

| decisions, including transnational ones ?

Which of the following statements best reflect
the rational, plausible and practical

implications that can be derived from the
7

62.

passage given above

state
Unless a ruling authority decides as to

what is right or wrong, no man would be ‘

morally right

[ Man is inherently immoral and selfish |
in a natural state

d The idea of what 1s right or wrong is|
necessary for the survival f human

pecies

1 Too much globalization is not in the best
interests of any country

2 Modern technologies are increasingly
blurring the economic borders

3 Innovation and capital have impinged
on the domain of the State

4 Public policy of every country should
focus on developing its own supply
chains

5 Geopolitics will have to reconcile to

many ambiguities and uncertainties

Select the correct answer using the code gaiven

below
a) 1, 4 and 5 only
bl 1 j and 4 only

c 2,3 and 6 only

d 1,2,3,4and 6
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Passage - 3

The resolution of bankruptey cases of Indian

panks under the Insolvency and Bankruptey
Code should help bring non-performing nssets
NPA) situation under some control. Despite the
low by

Company Law Tribunal, the Code can be helpful

pace of resolutions the National
in cleaning up bank books in future eredit cycles
The recapitalisation of public sector banks too
can help increase the capital cushion of banks

and induce them to lend more and boost

economic activity. But bad debt resolution and
recapitalisation are only a part of the golution as
they, by themselves, can do very little Lo rein in
reckless lending that has pushed the Indian
banking system to its current sorry state Unless
there are systemic reforms that address the
problem of unsustainable lending, future credit

cycles will continue Lo stress the banking system

Which' one of the following statements best
reflects the most logical, rational and
implied the

B63.

practical suggestion by

passage given above 7

a) Lending by the banks should be closely

monitored and regulated by the Central

Passage - 4

In India, the objective of macroeconomie
policy is to enhance the economic wellurs of
the people, and any one wing of such macre

monetary or fiscal, canoot

policy,

independently work without active supporn of

another.

64. Which one of the following statements best

reflects the corvllary v the passage grven

Government

Interest rates should be kept low so as to

induce banks to lend maore, promols
credit  growth and  thereby  boost)
economic aclivity

Merger of many banks into o few large
banks alone is the long-term solution o
mnke them viable and prevent their bad
performanc

banking tem Feuire

Indian

tructural reform fn 1

olution for bad loans problem

long-Lerm

above 7

(a The central bank cannot work
independently of the Government

(b Government should regulste financa
markets and institutions .

(e Market econom not [ ble wit
the moc 1 [ { L} e g dhas’

‘ d Financ wcior refors Are e red for

enhancing the « wellare of
e
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65. .L”umsider the following Table :

Runs Balils Runs |Balls faced
Plaver scorec_i in| faced in | scored in | in the
“ " |the First|the Firstithe Second Second
Innings | Innings | Innings Innings
| A 61 | 99 14 76
| B 05 | 12 50 86
C 15 75 20 50
| D 13 56 12 50
Who is the fastest run scorer in the Test
Match ?
a) .'\
(b) U
&) G
(d D
66. Half of the villagers of a certain village have

their own houses. One-fifth of the villagers
cultivate paddy. One-third of the villagers are
literate. Four-fifth of the villagers are under
25 years of age. Which one of the following
statements is certainly correct ?

All the villagers who have their own
houses are literate.

Some villagers under 25 years of age are
literate

Only half of the villagers who cultivate
paddy are literate.

No villager under 25 years of nge has his
own house

(a)
(b)
Lc)

(d)

67. Consider two Statements and a Question :
Statement-1 ; The last day of the month is n

Wednesday

The third Saturday of the month

was the seventeenth day.

Statement-2
Question What day is the fourteenth of the
given month ?

Which one of the following is correct in respect
of the Statements and the Question ?

i Statement-1 alone is sullicient to
answer the Question

b Statement-2  alone 18  sullicient to
answer the Question

C ioth Statement-1 and Statement-2 are

required to answer the Question
dl  Neither Statement-1
Statement-2

alone nor

nlone 18 suflicient Lo

inswer the Question

SYLI (39

08,

70,

Which day is 10" October, 2027 7

(a) Sunday
(b)  Monday
(c) Tucsday
(d)  Saturday
Consider two Statements and  four

Conclusions given below. You have to take the
Statements to be true even if they seem to be
at varlance from the commonly known facts.
Read nll Conclusions and then decide which of
the given Conelusion(s) logically followw/follow
Statements, the
commonly known facts,

Statement-1 :
Statement-2 ;

from the disregarding

Some greens are blues.
Some blues are blacks.

Conelusion-1: Bome greens are blacks,

Concluston-2 : No green is black.
Conclusion-3 : All greens are blacks,

Conclusion-4 : All blacks are greens.

Which one of the following is correct ?

(a)  Conclusion-1 and Conclusion-2 only
(b)  Conclusion-2 and Conclusion-3 only
te)  Conclusion-3 and Conclusion-4 only
(d)

Neither Conclusion 1 nor 2 nor 3 nor 4

h ¢ '
What is the value of ‘X' in the sequence

2,7,22,67,202, X, 1822 7

(a) 603
(b) 605
el GO7

d) 608
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o1

a

s for the following 2 (twe) i \

“ing fwo possages and answer the

«. Your answers to these i Should
tke passcges only.

Passage - 1

: democracy avoid being a welfare state
Why cannot mass welfare be left
the markets ? There is a built-in

markets and democracy.

rnot work on a one-person-one-vote
< democracies do. What ane gets out of
: place depends on one’s endowments,

_rchasing power and the forces of

nd supply. Markets reward individual

.~d skill, and may also lit many from

elwWeen

--= rungs of society, but some people

the opportunity to develop skills that
{-mand: they are simply too poor and
sicapped; or skill formation takes too

reating jobs, markets may be able to

.nskilled people, but capitalism has
tnessed bursts of unemployment.

"z assumptions have been made :
on the market

\[odern democracies rely
be welfare

forces to enable them to

ensiive’ milicient ecus0> ¢

| be
srowth necessary for democracies a2

Markets

uve

ernment Programmes n.re need;d for
- left behind 10 economic Erow

assumptions is/are

the above

ynd 3 only

i 3 onl¥

2 and 9

l“

T2.

Passage - 2

In our schools, we teach our children all that
is there to know about physics, maths and
history and what-have-you. But do we teach
them about the bitter caste divide that plagues
the country, about the spectre of famine that
stalks large parts of our land, about gender
sensitivity, about the possibility of ntheism ns a
choice, etc. ? Equally important, do we teach
them to ask guestions, or do we teach them only
our wisdom ? From the

the

adolescent finds himselfherself in the unfettered

to passively receive

cocooned world of school, suddenly,
world of university. Here he/she is swept up in a
turmoil of ideas, influences and idealogies. For
someone who has been discouraged from asking
questions and forming an opinion, this transition

can be painful.

Which one of the following statements best

reflects the central idea of the passage

given above ?

(a) School curriculum is not compatible with
the expectations of children and parents.

(b) Emphasis on academic achievements
does give time for development of
personality and skills

(¢} Preparing the children to be Dbetter
citizens should be the responsibility of
the education system

(d To be a better citizen, the present world
order demands societal and life-coping
skills in addition to ncademic content

=D}




Directions for the following 2 (two) items :

Read the following two passages and answer the
items that follow. Your answers to these items should
he based on the passages only.

Passage - 1

Can a democracy avoid being a welfare state
for long ? Why cannot mass welfare be left
entirely to the markets ? There is a built-in
tension between markets and democracy.
Markets do not work on a one-person-one-vote
principle as democracies do, What one gets out of
the market place depends on one's endowments,
skills, purchasing power and the forces of
demand and supply. Markets reward individual
initiative and skill, and may also lift many from
the bottom rungs of society, but some people
never get the opportunity to develop skills that
markets demand; they are simply too poor and
too handicapped; or skill formation takes too
long. By creating jobs, markets may be able to
help even unskilled people, but capitalism has
always witnessed bursts of unemployment.

71. With reference to the above passage, the
following assumptions have been made :

1 Modern democracies rely on the market
forces to enable them to be welfare
states.

2 Markets ensure sufficient economic
growth necessary for democracies Lo be
efTective.

3 Government programmes are needed for

those left behind in economic growth.

Which of the above pssumplions is/are

valid ?

a 1 and 3 only
(b} 3 only

(¢) 2and3only
d) 1,2and 3

Passage - 2

In our schools, we teach our children all that
is there to know about physics, maths and
history and what-have-you. But do we teach
them about the bitter caste divide that plagues
the country, about the spectre of famine that
stalks large parts of our land, about gender
sensitivity, about the possibility of atheism as 2
choice, etc. ? Equally important, do we teach
them to ask questions, or do we teach them only
to passively receive our wisdom ? From the
cocooned woarld of school, suddenly, the
adolescent finds himselfherself in the unfetiered
world of university. Here he/she is swept up in a
turmoil of ideas, influences and ideslogies. For
someone who has been discouraged from asking
questions and forming an opinion, this transition

can be painful.

72. Which one of the following statements besf

reflects the central idea of the passage
given above 7

(a) School curriculum is not compatible with

the expectations of children and parents

(b) Emphasis on academic achievements
does give time for development of

personality and skills.

(c) Preparing the children to be better
citizens should be the responsibility of

the education system

(d) To be a better citizen, the present world
order demands societal and life-coping

skills in addition to academic content

BXC-B-GYLI (41-D)
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73. There are three points P, Q and R on a 'i'?L'-.
straight line such that PQ} : QR =3
the number of possible values of PQ
what is n equal to ?

5. 1fnis|
PR, then |

c 3
d 4
74. On a chess board, in how many different ways

can 6 consecutive squares be chosen on the
diagonals along a straight path ?

12 |
75 he senes _b_a_ba _b_abab_aab; fill in tht%
ks ( _ ) using one of the [ol.lmrmggrren!
hoices such that the series follows a|

wcific order

ibaba

baabba

bbaabb

sbabab
76 ng 2. 2, 3, 3, 3 as digits, how many distinet

bers greater than 30000 can be formed 7
1

BO.

[

12

ier the following statements

The sum of 5 consecutive integers can be
100

The product of three consecutive natural
numbers can be equal to ther sum

slatements 18are

above
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